
Name: Answer KeySubtraction With Tape Diagram

Math www.CommonCoreSheets.com
1-7 86 71 57 43 29 14 0

Answers

1. 17

2. 41

3. 15

4. 25

5. 31

6. 16

7. 30

Solve each problem using a tape diagram.

1) Emily went to the fair with $32 to spend. She spent $15 on rides. How much money does
she have left?

32

15 ?

2) Roger had 89 cherries. He ate 48 of them. How many cherries does Roger have left?

89

48 ?

3) A store has 43 shirts. If 28 are long sleeve, how many are short sleeve?

43

28 ?

4) Henry owned 46 video games for his Playstation and Xbox. 21 of the games were for
Xbox. How many games does Henry have for playstation?

46

21 ?

5) Oliver has $77. He decides to spend $46 on new video game. How much money would he
have left?

77

46 ?

6) At the arcade Cody had won 63 tickets total. He won 47 of them while playing Whack-A-
Mole and the rest while playing Stop-The-Light. How many tickets did Cody win playing
Stop-The-Light?

63

47 ?

7) A chef has 80 cherries. He sets aside 50 of them to make a pie. How many cherries would
he still have?

80

50 ?
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